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Acceptance Cuts

rget Field = 5T, Longitudina



PID Cuts
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Also Cut On:
* Event Type (T3 for LHRS)
* Single Track Events

e One Clusterin VDC

run 5839, E = 2.2 GeV, p0 = 1.468 GeV/c, Target Field = 5T, Longitudinal
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Sign Checks

Raw Asymmetries, E = 2.2 GeV, 5T Target Field, Longitudinal Raw Asymmetries, E = 2.2 GeV, 5T Target Field, Longitudinal

0.004

0.004

® HWPout, Pt=+ ® HWPIin, Pt=+

0.003 ® HWPin Pt=+ | 0.003

¢ | |
,,,,,, + + % : | 0.002

"""" 0.001

HWP in, Pt = -

0.002

0.001

-0.001

@ g L A i S -0.001

,,,,,,, % - -0.002

-0.002

T S R E S EOS S o -0.003

f\\Ti!W[1{\\T\iW\\\i\!W[}\\\Ti!W[W*T\[WI

-0.004

B T T T S U A T S A I R A I S AN N -0.004
100 200 300 400 500 600 700 800

v = E-F’ v = E-F’

= 2
© [T T T T T P T T T [ T

o

Raw Asymmetries, E = 2.2 GeV, 5T Target Field, Longitudinal Raw Asymmetries, E = 2.2 GeV, 5T Target Field, Longitudinal
0.004 =

® HWPout, Pt=+ = ® HWPout, Pt=-

ps ® HWPout, Pt=- 0'003;” % HWP in, Pt = -
,,,,,,,, 0.002}=-

[ °
———————— 0.001+
,,,,,,,, o+
[] =

rrrrrrrr -0.001f+
,,,,,,,,,, I T % I -0.002—
rrrrrrrr -0.003- -
b gy 1 -0_004j-w PR LT CISICIIUIT ) ST SIT SUNIREY SO0 CIUTTUITIUITES (V) (TR RITOITY TN Stit ST IO LT LII Rt )
50 100 150 200 0 20 40 60 80 100 120 140




Asymmetries

Raw Asymmetries, E = 2.2 GeV, 5T Target Field
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The Problem...

hel.L.hel_act
x10° htemp
- Entries 7007609
L Mean -1.413e-05
— RMS 0.2118
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hel.L.hel_act

Of the 268 runs |
looked at, 208
have this issue.



